L Factoring

Chapter 3 Review #1 NAME: 1L Completing the Square
I11. Quadratic Formula
Solve using any method. List what methods you can use to solve each one. IV. Square Roots ﬁ
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Factgr:

3x*—10x—8 6. 25x*+30x+9 a36x2—81

(Bt D) (x = 4) ( Sx+3)(sx+2)  G(4x-1)
@ (2x+3X2):3)

Find t] nd describe the number and type of solutions to the quadratic equation.
. 3x2—25x+13=0 9.5x2—-7x+9=0
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Simplify:

10./—98 11. v—529 12. v—63
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Simplify, then write answer in standard form. * L - : |
13. 3i—(5+2i)—12i+ 15 14. (4 — 5bi) — (12 + 9i) 15.(5 — 2i)(6 + 12i) =

3=-5-2¢ ~/2L +IS Y-S=12-Fc Jo+e0i-12; ~2¢:2
10-1l¢ -8-14¢ SY+y8&¢

16. Graphy = (x +2)2+3 and y = —(x+2)?+5. 17. Graphge=(x+4)>—1 and y = 2x + 6.
Solve the system of equations. Solve the system of equations.

i (-3,9¢¢) ! (-3,0)




18. A tall tower is located in New ||Irsey City. The equation f(z) = -16¢° + 1296 models the height f (t) (in feet) of an

object t seconds after itfis dropped fipm the top of the tower.

a. What is the value of the height f{#) when the object hits the ground? o&

b. After how many seconds will the object hit the ground? ?Se c

O=-1Lt "+ 1256
c. What is the maximum height of the object? / 97‘ ;ﬁ

d. What is the height of the object after 5 seconds? %7 Q

£65)=-10¢s 2 +12

Solve the system of equations.

-
19.y=(x—-2) & y=—x*+4x-2 20. x> $6x+y=—10

4 3x% +18x — y ==f=2
6‘-3)2‘& -)czf' Yo -2 ‘{)gzal-IQ - {
x = =
X Btz =2 49 -2 .
Dei-8x 4620 Yx"+12x +8=0
2(5-Yx+3) =0 ‘/(xz+3x+3)=o

2(x-3)(x-1)=0 Y(x+2)(x+1)=0
X3 Xz X=-2 X:=-|

= - ". 1(‘ ?'-

True or False:

21. Asystem of equations including a line and a parabola can have only 2 solutions. F (1 oa l)

22. Asystem of equations including two lines can only have 0 or 1 solution. F (INFﬂ ;TG"
— ) Mpry)

23. A system of equations including a line and a circle can have up to 4 solutions. l- (9

24. A system of equations including 2 parabolas can have more than 2 solutions. F (ur T° Q )
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